SET—"2”
(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU ARE ASKED TO DO SO)
| (Ph.D/URS—EE—Jan. 2022)

MANAGEMENT
cote| A
Time : 1% Hours Total Questions : 100 Max. Marks : 100
‘Roll No. (in figure) . (in words)
Name : Father’s Name :
Mother’s Name : Date of Examination :

(Signature of the Invigilator)

© (Signature of the candidate)
CANDIDATES MUST READ THE FOLLOWING INFORMATION/

INSTRUCTIONS BEFORE STARTING THE QUESTION PAPER.
n book-let as well as OMR
eaving the Examination Hall,

-behaviour will be registered
olice. Further the

1. All questions are compulsory.
9. The candidates must return the Questio
answer-sheet to the Invigilator concerned before 1

failing which a case of use of unfair-means / mis
against him / her, in addition to lodging of an FIR with the p

answer-sheet of such a candidate will not be evaluated.
‘3. Keeping in view the transparency of the examination system, carbonless OMR
Sheet is provided to the candidate so that a copy of OMR Sheet may be kept by

the candidate. .

4. Question Booklet along with answer key of all the A,B,C and D code will be got
uploaded on the university website after the conduct of Entrance Examination.
In case there is any discrepancy in the Question Booklet/Answer Key, the same
may be brought to the notice of the Controller of Examinations in writing/through
E. Mail within 24 hours of uploading the same on the University Website.
Thereafter, no complaint in any case, will be considered.

5. The candidate MUST NOT do any rough work or writing in the OMR Answer-
Sheet. Rough work, if any, may be done in the question book-let itself. Answers
MUST NOT be ticked in the Question book-let. - : A

wer will be awarded

There will be no negative marking. Each correct answ

6.
one full mark. Cutting, erasing, overwriting and more than one answer
- in OMR Answer-Sheet will be treated as incorrect answer.
L POINT PEN of good quality in the OMR Answer-

g}fe only Black or Blue BAL
eet. _
RING THE QUESTIONS, THE CANDIDATES SHOULD

‘8. BEFORE ANSWE
| ENSURE THAT THEY HAVE BEEN SUPPLIED CORRECT AND COMPLETE
NTS, IF ANY, REGARDING MISPRINTING ETC. WILL

BOOK-LET. COMPLAI
'NOT BE ENTERTAINED 30 MINUTES AFTER STARTING OF THE
EXAMINATION. " |



Code-A

estion Questions ‘

No.

1. | Who is considered as the father of scientific management ?

(1) Peter Drucker (2) F.W.Taylor
L (3) Victor Vroom (4) Henry Fayol

2. | The term “Gangplank” is associated with which of the Fayol's functions ?
(1) Order |
(2) Equity
(3) Unity of Direction
() Scalar Chain

8. | Given below are two statements : One is labelled as Assertion (A) and the

other is labelled as Reason (R)
Assertion (A) : According to Herzberg, preventing or reducing

dissatisfaction at work is not the same as providing satisfaction.
Reason (R) : Under the ‘two-factor theory’, job satisfaction and
dissatisfaction are the two diff;arent aspects of work motivation.
In the light of the above statements, choose the correct anéwer from the
options given below : |

(1) Both(A)and (R) are true and (R) is the correct explahation of (A)
(2) Both(A)and (R) are true but (R)is NOT the correct explanation_of (A)

(8) (A) is true but (R) is false
4 Ais _false but (R) ié true

ID/URS-EE-2022 (Management) Code-A
(1)
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| _Ne. ] Questions R
/ 4. | Which of the following statement(s) is/are true in the context ofparaphrasmg ?
I.  Itis basically about sta ting in your own words, your understandxng of

what has just been said.

' he/she i
I1. It gives speaker an opportunity to find out Wh.?t messagé . ? 18
getting across to you.

Select the appropriate answer from the following :
(1) Onlyl (@) OnlyII - |
(3) BothIandlII CY) .Neither Torll

Which of the following ls/are condltlon(s) for pr1ce dlscnmlnatlon of
product ? |

(a) Firm must have some monopoly power

(b) Price elasticities of demand for the product in d].fferent market must i
differ |

(¢) Market must be separable or able to be segmented o
(d) Freeent:yan-de_:'zitofﬁrms' N o
(1) (2)and @ only

(2) (), (¢) and (d) only

(3 (), (c) and (d) only

(4) (_a), (b) and (c) only

When mﬂatmn isa result of an increase in the price of factors of productlon, |
theresultis . o
( 1) Stagflation | ©® V‘Cost-push inﬂation
(3) - Demand-pull mﬂat:on @ None of the above

D/URS—EE—ZOZZ (Management)- Code-A
(2)
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uestion
o Questions
7. | The combination of stagnation and inflation is known as

(1) Stagflation (2) Cost-push inflation

(3) Demand-pullinflation - (4) None of the above

The four types of social respddsibility include
(1) Legal, Philanthropic, Economic & Ethical
(2) Ethical, Moral, Social & Economic

(3) Philanthropic, Justice, Economic & Ethical
“@ Legal, Moral, Ethieal & Economic

re—

'Moving along an indifference curve the :

9.
(1) Consumers prefer some of the consumptmn pomts to others

2 Marginal rate of substitution for a good increase as more of the good

_ 1s consumed
(3) Marginal rate of substltutlon is constant
€)) Consumers do not prefer one consumption pomt to another

All such demand curves where quantity demanded is totally _unresponsxve -

to changes in price are called :

(1) Perfectly elastic demand. curves

(2) Perfectly inelastic demand curves

' (3)  Unitary elastic demand curves

- (4) None of the above

ID/URS-EE-2022 (Management) Code-A
- 3)
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/ . o 2
f . o ;h following i8 NOT one of the steps involved in decision making
wruch of the |

l’
rocess N
:’1) Make decision oY choose an alternative

@ Change the desired outcome
(&) Research and jdentify optlons

@ Evaluate results : .. L | ‘ |
nd extrovert perstm’ahty ? Lo ‘

ality a
classified introvert person | | -,
12. | Who has | (@ Jung e ‘\\

(1) Freud .
(3) Munn @ Allport

138. | Which of the fo]lowmg is not a covert b

(1) Thinking (2) Feehng
(3) Dreaming 4 Talkmg

ehaviour ?

‘The basis of theory Z is the rehance on _

(1) External control of human behavmur o

@) Self-control and self- d1rect1on

3) ‘The belief that productivity is linked to trust openness, subtlety and -
intimacy in the work environment -

(4) Government regulatory framework

15. | Which of the following statements is true‘ about strees managethent ?

(1) - Stress management is learmng about the connectlon between mmd
and body '

(2) Stress management helps us control our health ina posmve sense '

(3) Stress management teaches us to avmd all kmds of stress
(4) Only ‘T & 2 are right |

Hb.’URS-EE-2022 (Management) Code-A — l‘ . o
@ |
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16. | Scope of Organisationa] Behaviour does not include

(1) Leadership @) Perception

(3) Job Design ' @) Technology

- 17. | What should be the strategy of HRM ?

(1) Making the long-term and short«term planning
(2) Planning the optimum leve] of man-power

(3 Introducing training programmes to personne]
(4) All of the above

18. | Human Resource planning is compulsory for

1) Effective employee development programme '
(2) Base for recruitment

3) Base for selectmn policy =
1@ All of these

19,

Job analys1s HR plannmg, recrmtment selectmn placement mduchons |

and internal mob111ty are few important funct1ons wlnch come under the

headingof ____ of HRM |
Q) Integration function _' (2) Development

(3) Maintenance @ Procurement function

____provides information on the human attnbutes in terms of educanon, |
‘skﬂls, aptltudes, and experience necessary to perform a ]Ob effectwely

(1) Job descnptmn @) Job spec1ﬁcat10n |

_(3) Job analys1s - (4 Jdob evaluatlon

D/URS-EE-2022 (Management) Code-A
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" The barriers to effective performance appraisal are :
(a) Peychological blocks of managers

(®) Faulty assumptions of the parties concerned

(¢) Technical pitfalls

(d) Faulty written communications

(1) All are correct |

(2 Only (b) and (c) are correct
(3) Only (a) and (b) are correct
(4) Only (a), (b) and (c) are correct

22, | Following are the eve’nts ef nn o'rgani'zati'o'nal: cultt'u"e DU
(@) Customer orientation and employee policies
@) Quahty orientation, directing and motlvatmg style

© Declsmn-makmg, products and services and respons1b111t1es to Soclet
(d) Reaction to competltors and gratltude towards natlon |

- SeIect tbe correct sequence for. the above events
@) @, ®and@ R

- @ @), (and (d)
[@ B, ©@andd

e (.'a), (b),'(c) and (d)

| ‘23. '- What Method is/are Used for Competency Mappmg ?.

(1) Interview

R | (2) Psychological tests o
(3) Group.work .

(4) Aﬂ Of the above

YVITPRQ o e ——— .' _ S
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25.

“ﬁf‘.’“ Questions o
- 24, | Organizational behaviour focuses at 3 Levels :
(1) Individuals, Organisation, Society
(2) Society, Organisation, Nation
(3) Employee, Employer, Management
(4) Individual, Groups, Organisation =
Industrial relations refer to

(1) Central government and state government relations
2 'Employer-empIOYee and government relationship

(3) Management and customer relatiehship '

| (4) Government and public relations . |,

26.

Which of the following functions of trade unions are rela@d_ to trade union

organizations: | )
(1) To present and strengthen trade union democracy

(2) To improve financial position of trade unions
(3) Tocurbinter-unionrivalry |

(4) All of the above

27.

Which of the folloi)ving cannot be 'eategofized_ as the mainl aims of werks

commlttees ?

(1) Giving greater participation of workers

(2) Providing better opportumtles outside the orgamzatlon
(3) Generating co- operatlve atmosphere for negotxatlon between partles

(4) Ensunng close 1nteract10n between labour and management |

’HD/URS—EE—2022 (Management) Code-A
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98. | Who coined the term "Collectlve Bargamln
(1) Reed Rlchardson .
(2) Kurt Lewin |

(4) Sydney Webb and Beatrice Webb |

¢ W E. Deming

29.

Tobe effective in the mternatmnal envn‘onment and HRM pohcles must :

(1) Eﬁ‘ectlvely transplant HRM pohc1es and practlces from the home

~Country to all other oﬂices .

2 Accommodate dlﬂ'erences in management style

(3) Focus on domestlc 1ssues

(4) Reﬂect an mternatmnal ,\(1ewr |

30,

The staffing policy in which all key management pos1t1ons are ﬁlled by

"home country nationals in termed

(1) Polycentric ~_‘ (2) Ethnocentnc

| (3) Geocentric - | (4) Multlcentnc '-

3L
D speclﬁed date ?

Wthh option g1ves a rev1ew report on the ﬁrm S ﬁnanclal status at a

(1) Income & Expend1ture Account‘ |
@2 Balance Sheet |

(3) Cash Flow Statement

1@ Proﬁt & Loss Account L

HD/URS—EE—2022 (Mﬂnagpmnnd.\ —
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Questions

32.

Accounting ratios are an important tool of

(1) Financial Statement Analysis

(2) Tral balance

(3) Financial Statement Analysis and Trial balance
(4) None of the abové

- 83.

The objectives of Cash Flow Statement are

(@) Analysis of Cash position

(b) Short-term cash planning

(©) Evaluation of liquidity

(d) Comparison of operatin-g Performance
Select the correct thions . o

(1) Both(a)and (®)

(2 Both(a)and ()

(3 Both(and@ -

@ (2, ®), © and @)

34.

Which of the following is true at break-even point ?

(1) Contribution = Fixed cost -

(2) Sales=Total Cost
(3) Sales curve cuts total cost line

(C)) All of the above ,

PHDI‘URS—EE—2022 (Management) Code-A
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" 865.

Process costing is suitable for
(@ Oilrefining firms ey

Q) Hospitals ;
(3) Transport ﬁrms (4) Brick laying firms: T |

36.

The formula to estimate Labour Mlx vanan’ce is :

Total standard labour cost of t Total actual cost of

(1) actual output -
actual output o
2) (Standard rate per hour — — Actual rate per hour) Actual lHo:_urs o

(3) (Revised standard time — Actual tlme)* Standard rate
(4) Abnormalidle hours-* Standard hourly rate

37.

anagement is mamly concerned with

Financial m
(1) All aspects of acqmrmg and ut:hzmg ﬁnanc1a1 resource

activities

) for firm‘s"

(2)‘ Arrangement of funds 7.
(3) Efficient Manageme_nt of eve’ry_business

(4)' Profit max1m1zatlon 3

- 38.

is the rate of return for the most v1able 1nvestment opportumty for

a company that they wﬂl forgo by selectmg any other prOJect

(1) Implicit cost

2) Specific cost |

(3) Ex‘plicit cost

(4) None of the above

’HD/URS—EE—2022 (Management) Code-A
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No.

- 39

While desxgmng a capital structure a finance manager should choose a
pattern of capital which :

(1) Minimizes cost of capital |

(2) Maximizes the owner return .

(3) Maximizes cost of capital and minimizes the owner return
(4) Both(1)and (2) ’ ~

40.

Which of the following is studied with the help of operatmg leverage ?
) Analysis of Business Rigk

(2) Analysis of Financial Risk

(3). Analysis of Production Rlsk

4) Analys1s of Credit rlsk

41,

_conmdered
(1) Net Present value method
(2 Internal rate of return method

Under Wh.lCh of the followmg method the »tvime value of money is not

(3) Pay-back period method
(4) Allof the above

42,

. 15 Under-capltahzatlon

| .(4) Market capltahzatlon

of a firm refers to the composition of its long-term funds and its
capital structure, L B |

(1) Capitalization ,
2 Overcapltahzatmn

DfURS—EE—2022 Manoo———
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ioof 1.6 compared mththemdnﬁy

48. | Alto Industrieshasa debt-to-ed

average of 1.4. This means that
(1) Will not experience any difficul
(2) Hasless liquidity than other firms in the in

rthiness . : .
(3) Will be viewed a8 having high creditwo '
ﬁnancml risk when compared to other firmg

(4) Has greater than average
in its industry , | 3 ‘
be adjusted :

the company :
ty with a8 creditors

dustry

44. | To increase a given present value, the discount rate should

(1) Upward | | 2 Downward
(3) Nochange | @ Constant
e ﬁnanoed from working capltal‘7

45. Whlch of the following would not b
(1) Cashfloat ) Accounts rece1vab1e | |
(3) Credjt sales = computer for the oﬁice

(4) Anew personal
total assets Rs 20 lac, ourrent

46. | Debt Equity Ratlo is 3 1 the amount of
ratio is 1.5:1 and owned funds Rs 3 lac. What is the amount of current

| asset ? | , -
o Rs.5lac _(2) -Rs.3'1,ac, -
3) Rs.12lac '(4)[None_'ofthe; abe.v,e. Sl e w

47. | The process of risk management 1ncludes
| (1) Minimizing risk

(2) Maximizing return
(3) Defining and measurmg nsks bemg taken

| @ Hedging

ID/URS—EE—2022 (Management) Code-A
| R ¢ b
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Which accounting standard represent the merger and amalgamation ?
(1) AS16 (2) ASe6 |
3) AS14 (4) A823

49. | The first bank in India to start factoring business is

(1) Canarabank | (2) SBI
(3) Punjab National Bank (4) Allahabad Bank -

50. | On the expiry date of a futures contract, the price of the contract

(1) Always equals the purchase pnce of the: contract
(2) Always equals the average pr1ce over the hfe of the contract

3 AIWays equals the price of the underlymg asset
@ Always equals the average of the purchase pnce and the price

underlying asset

51. is a ' widely used framework to summanze a company B sltuatlon or
current position. .
¢) SWOT analysis

3) Ansoff’s matrix

(2) TOWS matrix |
(4) BCG i:hatrix

The GE 9 cell model is based on:

52,
(1) Ind'nstry attractiveness & Business strength

2) Industry Growth rate & Business strength
3 Industry Attractiveness & Relative market Share

(4) Industry Growth & Relative market Share

[D/URS—EE—2022 (Managemen(t)s)Code-A
1
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-(1) Expected competltor retahatlon o
(2) Economies of scale .
(8) Customer product loyalty

(4) Bargaining power of suppliers

i dwith:,
i i tion is concerne
63. Horizontal integra »
i @ Quality
1) Production
( i (4) All of the Above |
(3) Product Planning 4 3
is best descn
54. | Exploring the strateglc mphcatmns of global warmmg beg
as ‘
(1) Anexternal environment analysis
(2) Scenarioplanning
(3) Futures forecasting
@ APESTLEanalyiis ,
- 56.| Which of the followmg is NOT an entry barrier to an mdustry 9 .

.56.. _ .
| Which of the following is N OT a pr1ce adjustment strate ?
(1) Segmented pncmg | gy
(2). Promotional pncmg

() Free samples

(4) Geographlcal pncmg

, PHD/URS—EE-2022( Managemeny d u
g oA
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Q“;’]s:° Questions
57. | The stage in the product life cycle where the sfrategic focus is on market

penetration and building intensive distribution is the :
(1) Decline stage

(2) Introduction stage

(3) Growthstage

(4) Maturity stage

58.

Newsletters, catalogues, and invitations to organization-sponsored events

are most closely associated with the marketing mix activity of :
(1) Pricing | (2) Distribution
(3) Product development (4) Promotion

59.

A paid form of non- -personal communicatibn about a product that is
transmitted to a target audience through a mass medium is :

(1) Publicity

(2) Sales promotion |

(3) Advertising |

(4) Personal selling

60.

The ultimate level of segmentation leads to:
(1) Niche marketing |
2) Individual marketing

(3) Local marketing

(4) None of the above

PHDIURS—EE—2022 (Management) Code-A
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¢ willingness of

e
js nothing bu
per their taste, N

services as

(0); Consumer behaviour

62. | Interms of consumer behaviour)

influences have been related to purc

(3) Consumer attitude (4) Cons S ‘
culture; gocial class, and refgrence group :

N

hase and —— , __ 18

(1) Name, design, style, words or syl
distinguish one product from anqtbér .

) Desig-n:-'style, or symbols, sixigly or collective
product from another N

(3) Name, design, style, word
 from another |

(4) Name, words or symbols, singly of

prod.uct from another

product :

) .l . . ces
(1) Economic situations Q) S1tpaf;onal influen
) N ) . . . - - w
(3) Consumption decisions (@ Phys;q]',?gaca'l mﬂ'lllen 8 |
63. | What element_s'cbnstit.pte a brand ? | el B ‘
bols, singly OF collectively that

s or -sy'r‘nbols that diétingtiish oné, pfoduct_ s 5

T SRR

collectively that distinguiéh one | -

In marketing theory, ever coﬁtribution fxfom- the supply chain addé tothe}

(1) Yglues | | | (2) Costs :
A (3) Convenience | (4) Ingredients
PHD/URS-EE-2022 (Management) Code-A | i
- (16 |
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Questions

- 66.

The four unique elemént.e to services include :

(1) Independence, intangibility, inventory, and inception

(2) Independence, increase, inventory, and intangibility

3 Intangibility, inconsistend, inseparability, and inventory

@) Intangibility, independence, inseparability, and inventory

66.

A further 3Ps are incorporated into the marketing m1x :

(1) Physical evidence, process and price
(2) Process, people and promotlon |
3 Physwal ev1dence people and promotmn

(4) Physical ev1dence process and people |

67.

It has the

elatmns w1th key |

aim of building long term mutually sat1sfy1ng r
to earn and retain

parties, customers, suppliers, d1str1butors in order

their long-term preference and business.

2) Relationship Marketmg

(1) Marketing Myopia
(3) Product Marketing (4) Selling Concept -

68.

1@ Family branding

Using one brand name fbxf s’éveral .relatfed products is known as wh1ch of

the fdllowing :
2 Groupvbranding .

3) Combination branding | (4) Premium branding

nt) Code-A
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'(3) Customer relat1onsh1p management

r customei' service ‘_”hile'
both inside the|

Magm Box Company wants to prowde bette
t1ons.-Magi¢ Box |

k
trimming distribution costs through teamwoOIXx,

company and among all the marketing channel organiza
is thinking of

(1) Disintermediation

2 Integfated logistics management

(4) Vendor- managed 1nventory

e —

70.

It up-holds the importance of customer m the whole value creatlon process i
TheD.A.R.T. hlghhghts th1s aspect 1n a vivid manner. ' ’
(1) Contemporary Model - (2) Conventional Model
(3) Both S o @ None of the above

- T1,

(1) Exclusive class distribution

A grouped frequency dlstnbutmn W1th uncertain first and last classes is|

known as

(2) Inclusive class d1str1but1on
(3) Open end dlstnbutmn :
(4) Dlscrete frequency dlstnbutlon

7,

Extreme value has no effect on_ ' B

(1) Average -~ . (2) M dia
g edian

3) Geometrlc mean i 4) Ha |

>HD/URS—EE-2022 (Management) Co

(18) de-A_
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ulsstion Questions W
0. !

78. For a negatively skewed distribution, the correct inequality is o
(1) Mode <Median

(20 Mean <Median |

3) Mean <Mode

(¢ None of the above

74, | If p =0, the angle between the two lines of regression is
(1) Zero degree | (2) Ninety degree
(3) Sixty degree (4) Thirty degree

75. | The co-efficient of correlatiqn' is not affected b};
(1) Change of origin L @) Change of scale
(3) Both origin and scale . (4) None

76. | The level of significance is the:probability of committing :

(1) Typelerror . . - (2_)_’1‘_ype.II error
(8) Standard error 4) Probable error .

77. | IfA and B are two mutually exclusive events, then probability that either

of the two events will appear is the sum of their :
(1) Individual probabilities
(2) Likely events
(3 VEntire population
(4) None of the above

ED/URS—EE—2022 (Management) Code-A
S (19)
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}i No. 1 anﬁdmw

xandRcharts? . ts !
1) Yes, Specification limits = Control lim1

(2 Yes, Control limits = Speclﬁcatlon limits/2

() No .
4) Yes, Control limits

78.

*0.6= Speciﬁcatien limits_'

79. | Avariableis

any characteristic which can assume values,‘ -

” P——
chniiloal aalisiend - o e P B heoAdes ol

(1) Different ) ‘Similar
(3) Fixed (4) Assumed
80. | The line obtained -Byv'the method of least squares is known as the line |
of . . T | |
(1) Best fit @ Correlation‘ -
(3) Regression (4) ‘None
- 81. | Which of the followmg is not the obJectlve of WTO ‘7

(4) To i improve balance of payment situation of the member countnes 1

(1) To improve the standard of living of people of the member countnes s

(2) To enlarge production and trade of goods
(3) To protect environment

82,

IBRD also known as
(1) Exim Bank
@ World Bank

(3) International Monetary Fund |

| @ Internatlonal Bank

[D/URS—EE-2022 (Management) Code A
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[ which of the following years the Bretton Woods agreement was

signed by the delegatos from 44 nations which led to the establishment

of the IMF ? .
(1) 1940 . (@) 1862
4) 1987

(3) 1944

————————

85. ’ The Treaty of Rome was sngned in the year

| @ 196 @ 1986

Dumping refers to;
(1) Reducing tariffs
2 Sale of goods abroad at a lower pnce, below cost and price in then

‘ home market PR
3) Buymg goods at low pnces abroad and sellmg at hlgher pnee loeally

(4) Expensive goods selhng for low prices

(1) 1959 | @) 1957

86.

Under an acceptance letter of cred.tt the respons1b1hty of the 1ssumg

bank is : |

1) Only to accept the bill
(2) Topay against the bill
(3) Toaccept the bill 1mmed1ately and also to pay the amount of the bl]l

on its due date

(4) To get the acceptance of the 1mporter on the blll

D/URS—EE—2022 (Management) Code-A
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87. | A Decision Support System (DSS) is an application ke

that helps in _
(1) System Design (2) System Analy!:i.s + bove
e : ~ ne .
(3) Decision Makmg . (4) All of t.he mentio ‘ \
88. | Datain bytes size is called Big Data.
(1) Tera (2) Giga
(3) Peta ' . (@) Meta.

89. | Artificial Intelhgence is about
Q) PIaylng a game on Computer
(2 Making a machine Inte].hgent s
€), Programmmg on: Machme with your Own Intelhgence
(4) Putting your intelligence in 'Machine

—

90. supports knowledge diScovery by finding hidden patterns and

associations, constructmg analytlcal models, performmg classﬁcatmn and -
prediction. '

(1) Information Processing (2) Analyt1cal Processmg
| @ Datamining . (4) All of the above

The resistance of employees inan orgamzatlon a

gainst ﬂex1b111ty, growth
and diversifi

cation can be overcome by developmg

1) Entrepreneurshlp 2 Intrapreneurshlp

(3) Managenal domam (4) Administrative domain

VD/URS—EE—2022 (Management) Code -A
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Which industrial sector tends to naturalLy promote small-scale businesses

and Entrepreneurship, and generally has lower barriers to market entry ?

(1) Service (@) Manufacturing

(3) Distribution ~ (4) Agriculture

93.

National Alliance of Young Entrepreneurs sponsored an Entrepreneurial

Development scheme with Bank of India in :

(1) January 1920 (2) August 1920
(8) January 1972 (4) August 1972

94.

A Micro Enterprise is an enterprise where investment in plant and

machinery does not exceed (According to MSMED Act, 2006).

(1) Rs.25Lakh (2) Rs.20Lakh
(3) Rs.15Lakh - (4) Rs.30Lakh

95.

According to sociological approach, Entrepreneurship is:
(1) Process of sensitivity |

(2) Process of role performance

3) Process of eeonomic change

(4) All of these - R ey ;. |

- 96.

The idea generation process of entrepreneurship is
(D) Germination (2) Preparation

(3) "I'ncubation (4) All of these "

'HD/URS-EE-2022 (Management) Code-A
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97. | “Winners never quit and quitters novor win”. Who said this ?
1) Kalpana Sarvj (2) Harsh Bhaskar
(3) Adam Smith (4) Vince Lombard
_ Ll iy
98. | Which of the following is NOT an immediate indicator of industriy

sickness ?

(1) Drop in profitability

(2) Labour unrest

(3) Shrinking of market credit
(4) Declinein market share
99. | ___ isthe processof trackmg the evolutlon, development and Seq\lence _
' of critical events that aﬂ'ect the surv1va1 and Pl'OﬁtabﬂltY Of the futu:e

new business.
(1) Marketing. @ Monitoring |
(3) Scanning " | (4) New venture s envn'onment

‘Which of the followmg areas are preferred by women entrepreneurs ?
(2) Orgamzatlon | .

| 100.
(4) Manufacturmg o

(1) Admmstratlon
(3) Utilities '

HD/URS—EE—2022 (Management) Code-A
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aﬁzﬁm’ Questions

A grouped frequency distribution with uncertain first and last classes is

known as
(1) Exclusive class distribution

(2) Inclusive class distribution
(3) Openend distributidn
(4) Discrete frequency distribution .

9. | Extreme value has no effect on
(1) Average (2) Median
(3) Geometric mean (4) Harmonic mean

For a negatively skewed distribqtion, the correct inequality is :

(1) Mode < Median
(2) Mean< Median

(3) Mean< Mode
(@ None of the above

4. | Ifp =0, the angle between the two lines of regression‘ is
(2) Ninety degree

(1) Zero degree
@ Thirty degree

(3) Sixty degree

The co-efficient of correlation is not affected by
(2) Change of scale

(1) Change of origin

(3) Both origin and scale (4) None

HD/URS-EE-2022 (Managemen:))que-B )
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Y ¥ jitting *
. ml .
6. | The level of significance is the probability of com \
(1) Type I error @) Type II error |
(3) Standard error (4) probable error |
ty that either
7. | If A and B are two mutually exclusive events then P’l'Obablh y R
ear is the sum of their: | a

of the two events will app
() Individual probabilities
(2) Likelyevents

(3) Entirepopulation =~

(4) None of the above !
limits of|

8. | Isthereany relationship befween speCiﬁcatidn limite end_ eontrel

X and R charts ?
(1) Yes, Spec1ﬁcatlon limits = Control hmlts

@) Yes, Control limits = Spec1ﬁcat1on limits/2

(3 No : :
(4) Yes, Control hm1ts* 0 5= Speclﬁcatlon limits -

A vanable is any charactenstm whlch can assume values

. ’(1) D1ﬂ'erent - (2 Similar
(3) Fixed - (4) Assumed
10, The_l_,‘in'e obtained by the method of least sQuare‘s is kﬁowh as the line|
(1) Bestfit | | ’(2) Correlation. |
3 Regressmn I (4) None

D/URS—EE—2022 (Management) Code-B
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11. is & widely used framework to summarize a company’s situation or

current position.
(1) SWOT analysis
(3) Ansoff's matrix

(2) TOWS matrix
4) BCG matrix

12. | The GE 9 cell model is based on :
(1) Industry attractiveness & Business strength

(2) Industry Growth rate & Business strength
(3) Industry Attractiveness & Relative market Share
(4) Industry Growth & Relative market Share

18. | Horizontal intégrafion is concérned withj; i
(1) Production @ Quality
(3). Product Planning (4) All of the Above

14. | Exploring the strategic implications of global warm'uig_ is best described

as N , .
(1) An external envir,onmerit analysis

@ Scenario planning
(3) Futures forecasting . .
1@ APESTLE analysis

15. Which'.of the followi'n"g is NOT an entry barrier to an indilStty ?*

(1)' | Expected competitor retaliation
(2) Economies of scale
| 3 Customer product loyalty

4 Bargaining power of suppliers . . R

ﬁ)/URS—EE—2022 (Management) Code-B
| | o @
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Which of the following is NOT a price adjustment strategy ?

’ - (1) Segmented pricing
(2) Promotional pricing
(3 Freesamples
(@) Geograp_hical pricing

17. | The stage in the product life cycle where the strategic focus is on market
Penetration and building intensive distribution isthe:

(1) Decline stage - ' | '

(2) Introduction stage

1 (6)8 Grbwth stage

'(9) Maturity stage et

18. | Newsletters, catalogi_les, and invitations to ofganization-’spdﬂsored e\'leni':s' |
- are most closely assdciated with the marketing mix activity of :

| @ Pricing (@) Distribution |

(3) Product development 4) Promotion

- 19, A,paid form of non-peréonél' communication about a,produ(j.t‘thét. ._is
" transmitted to a target audience through a mags mediumis: .

() Publicity | R

(@) Sales promotion

(3) Advértising

| @ Personal selling

[TIDIURS—EE'—_2022 (Management) Code-B
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20.

The ultimate level of segmentation leads to :
(1) Niche marketing | (2) Individual marketing

(8) Local marketing ~ (4) None of the above

21,

Which option gives a review report on the firm's financial status at a
specified date ?

(1) Income & Expenditure Account

(2) Balance Sheet

(3) Cash Flow Statement

(4) Profit & Loss Account

- 22,

Accounting ratios are an important tool of -
(1) Financial Statement Analysis

(2) Trial balance |
(3) Financial Statement Analysis and Trial balance

(4) None of the above

|

23.

The objectives of Cash Flow Statement are

() Analysisof Cash position (b) Short-term cash planning
(c) Evaluation of liquidity
Select the correct options :
(1) Both (a) and (b)

(2) Both (a) and (c)

(3) Both (b) and (d)

@ @, 0),©and(@

(d) Comparison of operating Performance

PHD/URS-EE-2022 (Management) Code-B
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Which of the following is true at break-even point ?

1) Contribution = Fixed cost
(2) Sales= Total Cost
(3) Sales curve cuts total cost line

(4) Allof the above

26.

Process costing is suitable for
(1) Hospitals

(3) Transport ﬁrms (4) - Brick' laying firms

@) Oilrefining firms .

 26.

The formula to estlmate Labour M1x vanance is:

actual output .

7)) Abnormal idle hours* Standard hourly rate

| (1) Total standard labour cost of actual output - Total actual cost of

@ (Standard rate per hour - Actual rate per hour)* Actual Hours
3 (Rewsed standard tlme Actual t1me)* Standard rate

44 _,'27‘

act1v1t1es

o (2) Arrangement of funds
' (3) Efficient Management of every busmess |

| (4) Proﬁt max1m1zat10n

Fmanc1a1 management is mamly concerned with _

[¢)) All aspects of acqulrmg and utlhzmg ﬁnanc1a1 resources for ﬁrm

PHD/URS—EE—2022 (Management) Code-B
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28, ___is the rate of return for the most viable investment opportunity for

a company that they will forgo by selecting any other project.
(1) Implicit cost .

(2) Specific cost

(3) Explicit cost

(4) None .of the above

29, | While designing a cap1tal structure a ﬁnance manager should choose a
pattern of capital which :

(1) Minimizes cost of capital
(2) Maximizes the owner return -

(3) Maximizes cost of capital and m1mm1zes the owner return
(49 Both(1)and (2) . "

30. | Which of the following i is studled W1th the help of operatmg leverage ?
(1) Analysis of Business Risk '
2 Analys1s of Fmanc1a1 Risk
(3) Analysis of Production Risk
'(4) Analysis of Credit risk

- 3L Wh1ch of the followmg is NOT one of the steps mvolved in dec1s10n makmg
process ? -

1) Make decision or ‘choose an alternatrve
-(2) Change the desired outcome

a 3. Research and identify optlons |

| -(4) Evaluate results |

PHD/URS—EE—2022 (Management) Code-B
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38. | Who has classified introvert personality and extrovert Dersonaht& ? |
(1) Freud @ Jung | 4
(3) Munn (4) Allport '

88. | Which of the following is not a covert behavio

(1) Thinking - (2) Feeling
(3) Dreaming - (4) Talking

1)
@
6)

®

34. | The basis of theory Z is the reliance on _

‘Government regulatory f_ramework a

External control of human behaviour "
Self-control and self-direction |
The belief that productivity is linked to trust, openness subtlety and

intimacy in the work environment

@

@
@
@

SN

35. | Which of the following stat’ements is true' about stress management ?

Stress management is learning about the connectlon between mmd
and body | e ‘

Stress management helps us control our health ina pos1t1ve sense

Stress management teaches us to avoid all kmds of stress
Only ‘1’ &2’ are right

o
e

- 86. Scope of Orgamzatlonal Behavmur does not 1nclude

Leadershlp ) .' B (@) Percept1on
Job Des1gn | _' @) Technology

HD/URS—EE—2022 (Management) Code—B
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37,

What should be the strategy of HRM ?
(1) Making the long-term and short-term planning
(2) Planning the optimum level of man-power

(3) Introducing training programmes to personnel
(4) All of the above

38.

Human Resource planning is compulsory for _

(1) Effective employee development programme
(2) Base for recruitment

(3) Base for selection policy

(4) All of these

39.

Job analysis, HR planning, recruitment, selection, placement, inductions
and internal mobility are few important functions which come under the
heading of of HRM. : . .

(1) Integration function (2) Development

(3) Maintenance (4) Procurement function

40.

provides information on the human attributes in terms of education,
skills, aptitudes, and experience necessary to perform a job effectively.

(1) Job description (2) Job specification
(3) Job analysis | (4) Job evaluation

41,

The resistance of employees in an organization against ﬂe)ubﬂlty, growth,
and diversification can be overcome by developing . ‘

1 vEntrepreneurshlp ~ (2) Intrapreneurship
®) ""Managerial domain . (4) Admunstratwe domain

PHD/URS—EE—2022 (Management) Code-B
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43.

L\
tor tends to 18 ers to market
Which industrial sector ten ban'lt . entry?

has lower
u-ghip and generany . g
and Entrepreneursiip, @) Manufacturin

(1) Service

iculture
(4) Agric
(3) Distribution -

eurs
. ng Entrepren
National Alliance of Young LI i

i) of I
e with Bank 0
Development schemt SN 1950

(4) August 1972

(1) January 1920
(3) January 1972

.
A Micro Enterprise is an enterpnse where mvestment in plant ang
machinery does not exceed (According to MSMED Act 2006)
() Rs.25Lakh . (2 Rs. 20Lakh

(®) Rs.15Lakh @ Rs.-30Lakh

45.

According to sociological approach Entrepreneurshlp is:

(1) Process of sen81t1v1ty
(2) Process of role performance

(3) Process of economic change
(4) Al of thege

sponsored an Entrepreneurial |

\

codkﬁ F

46,

(1) Germinatiop

3) Incubatjop
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47. | “Winners never quit and quitters never win”, Who said this ?

(1) Kalpana Saroj (2) Harsh Bhaskar
(3) Adam Smith (4) Vince Lombard -

- 48. | Which of the following is NOT an immediate indicator of industrial
sickness ?

(1) Drop in profitability

‘(2) Labour unrest

(3 Shrinking of market credit

(4)~ Decline in market share

49. is the process of tracking the evolution, development and sequence
of critical events that affect the surv1val and proﬁtabﬂ.lty of the future

new business. o
(1) Marketing | (2) Monitoring

(3) Scanning | (4) New venture’s environment

50. | Which of the following areas are preferred by women entrepreneurs ?

(1) Administration (2) Orgamzatlon
(3) Utilities | 4) Manufacturmg
5.1.. __is nothing but willingness of consumers to purchase products and

services as per their taste, need and of course pocket.
(1) Consumer behaviour (2) Consumer interest

@) Consumer attltude 4) Consumer perceptlon

'HDIURS—EE—2022 (Management) Code-B
(11)
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52. | Interms of consumer behaviour, culture, social clagg, and
influences have been related to purchase and

(1) Economicsituations (2) Situational inﬂllen cés
() Consumption decisions  (4) Physiological inﬂnences

53. | What elements constitute abrand ? .. \

(1) Name, design, style, words or symbols, singl¥ or COHECtiVely that
distinguish one product from another oo

(@) - Design, style, or »syn‘;bols,, singly or collectively that distingujg), oﬁe
product from another | ¥

Teference groy

) Name, design, style, words or symbols that d.istingui_sh One prodygy |-
- from another | | -

(49 Name, -_words or symbols, g

ingly or collectively that distinguish; one|

Product from another
-84, | In marketing the(;fy, ever contribution from the supply chain adds tothe|]
Product : | . B
¢) Value's__ | - {2) Costs

@) C'onvenienee @ Ingredients

55.

(1)_ Independence, intangibili_ty, inventory, and inception |

@ Independence, increase, inventory, and intangibility

(3) Intangibility, inconsisten
L @ Intangibi]ity_, independe
PHD/URS-EE-2023 (Mnnnge

%, inseparability, ang inventory
nce, insepg

rability, and inventory <

ment) 'Code-ﬁ
a2




Code-B S
“ﬁff_i"" Questions
56. | A further 3Ps are incorporated into the marketing mix :
(1) Physical evidence, process and price

(2) Process, people and promotion
(3) Physical evidence, people and promotion

(4) Physical evidence, process and people

57. | It has the aim of building long term mutually satisfying relations with key
parties, customers, suppliers, distributors in order to earn and retain

their long-term préfe_i'ence and business.’
(2) Relationship Marketing

(1) Marketing Myopia
(3) Product Marketing

(4) Selling Cdncept
Using one brand name for several related products is known as which of

58.

the following : - | | |
(1) Family branding (2) Group brandjng"-”‘. :

(3) Combinationbranding.  (4) Premium branding

/ 59. | Magic Box Company wants to provide better customer service while
trimming distribution costs through-teamwork, both inside the
company and among all the marketing channel organizations. Magic Box

is thinking of
‘(1) Disintermediation
(2) Integrated logistics management

(3) Customer relationship management

| (4) Vendor-managed inventory | _ R

D/URS-EE-2022 (Management) 'Code-B
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60. | It up-holds the importance of customer in tl_xe whole value creation procesg,

The D. A. R. T. highlights this aspect in a. vivid manner.
(1) Contemporary Model

(@) Conventional Mode]

() Both

(4) None of the above

61,

—

Which of the following is not the objective of WTO ? ekl
(1) To improve the standard of living of pedple of _t'he member countrieg
(@) To enlarge production and trade of goods '

3) To protect environment

(49) Toimprove balance of payment situation of the member countries_'

62.

—

'IBRD also known as —
(1) Exim Bank
(2 World Bank

' (‘3)' International Monetary Fund

(4) International Bank |

- 63.

==,

In which of the following years the Bretton Wobds agreémeht.wés

_sign"ed by the delegates from 44 nations which led to the establishment

| of the IMF ?

@ 190 © w5
B) 184 . @ 1957 N
PHD/URS-EE-2022 (Managomont) Gogof———— —
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- 64,

Dumping refers to ;

(1) Reducing tariff
)

6))

Buying goods at low priceg abroad and

selling at higher price locally
(4) Expensive goods selling for low prices
65. | The Treaty of Rome w was S1gned in the year
(1) 1959 @) 1957
(3) 1956 (4) 1955
66.

Under an acceptance letter of credit, the responsibility of the issuing bank
is: - | ' |

(1) Only to accept the bill
2) "To pay against the bill

(3) To accept the bill immediately and also to pay the amount of the bill
on its due date '

(4) To get the acceptance of _the importer on the bill

67. | ADecision Support System (DSS) is an application for mformauon systems

that helps in |
(1) System Design - (2) System Analysis |
(3) .Decisi'on Making L (4) Allof the mentioned above

'PHDIURS—EE—2022 (Managemen(i:l)5)Code-B
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bytes sizé s called Big Data

¢8. | Data in___— |
(1) Tera (2) Giga
@) Peta (4) Meta
__——_—-“/‘-—‘/ . ———
69. Artificial Intelligence is about : .
| (1) Playing a game on Computer

(2) Makinga machine Intelligent
® Programming on Machine with your ‘Own Intelhgence

(4) Puttingyour mte]hgen

ge discovery by finding hldden pattems and
class:ﬁcahon and

ce in Machine

— |

supports knowled

70. |
structmg analyt1ca1 models, performmg

“associations, con
prediction. N
(1) Information Processing

(2) Analytical Processing

Q) Data mining .
(4) All of the above T :

. 71. | Under which of the following method the time value of money is not

" considered :
(1) Net present value method

(2) Internal rate of return method
(3) Pay-back period method
(4) All of the above

I |
PHD/URS—EE—2022 (Management) Code-B
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of ite long-term gunds and it8

No.
firm refers to the composition

72. of a

capital structure. .
(6)) Capitalization
2 Overcapitalization

| 3 Under-capitalization
@) Market-capitalization |
ratio of 1.6 compared with the industry

Industrieshas a debt-to- -equity
s that the company

- difficulty W1th as cr
industry

73. | Alto
average of 1.4. This mean

will not experience any
(2) Has less hquldlty than other ﬁrms in the

(3) Willbe viewed as having hlgh credltworthmess

(4 Hasgreater than average , financial risk when comp

inits industry

1) editore
ared toother firms

—

djusted g

the diecount rate should be a

74. | To increase a given present value, t
6)) Upward 2 Downward

(3) Nochange

(4) Constant

Which of the following would not be financed from working capital ?

1) Cash float

(2) Accounts receivable

(3) Credit sales oy
(4) Anew pereonal computer for the office
t) Code-B
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ount of total a‘s i s c“?reng Q
is 3:1, the 82 What is the amount o curt| {1
wned fur ‘
(1) Rs.5lac ' (4) None of the a ,
® RsM L
77. | The process of risk management include |
(1) Minimizing risk - |
(2 Maximizing return . e
(3) Defining and measuring risks being tax |
(4) Hedging . \
78. | Which accounting standard represent the merger aﬁd ‘amalglam;.ltion ?
(1) AS16 - - (@) AS6
() AS14 (4) AS23

79

1) Canarabank

The first bank in India to start factoring business is
(@ SBI

() PunjabNationalBank  (4) Allahabad Bank

80.

On the expiry date of a futures contract, the price of the contract B

(1) Always equals the purchase price of the contract

(2) Always equals the average price over the life of the COﬁtréct |

@) Always equals the price of the underlying agset

@ Alw g 4 ‘ »
ays equals the average of the-'purchase Price and th rics |
| | nd the price |

underlying agget.

HD/URS—EE—ZOZZ (Manag'eme‘nt) Code-B
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81. | The barriers to effective performance appraisal are :
(a) Psychological blocks of managers

(b) Faulty assumptions of the parties concerned
() Technical pitfalls

(d) Faulty written communications

(1) All are correct

(2) Only (b) and (c) are correct

3) Only (a) and (b) are correct

(4) Only (a), (b) and (c) are correct

82. FolleWing are the events of an organizational culture :

(a) Customer or1entat10n and employee pohc1es o

(b) Quality or1entat10n dn'ectmg and motivating style

(¢) Decision- makmg, products and services and responsrbﬂmes to society

(d) Reaction to competitors and grat1tude towards r_latlon .'
Seiect the correct eeql_renee forthe above events :

() (@), b)and @ 0

@ (@) () and @
(3) (b), () and (d)

4 (), (), (c) and (d)

~ 83. | What Method is/are Used for Competency Mappiﬁg? -
(2) Psychological tests B

(1) Interview
(4) All of the above

@) Group work

PHD/URS—EE—2022 (Managemen(t) )Code—B
» (19



.y - Code-E

Questions ' | g

o;-ganimtional bahavtour focuses at 3 I;eveia s
) [ndividuals, Organisation, Society

@) Society, Organisation, Nation

(3) Employee, Employer, Management

() Individual, Groups, Organisation o

85. | Industrial relations referto

(1) Central government a and state government rel
sh1p

atlons :

(2) Employer-employee and government relatlon
(3) Management and_customer relatmnelnp

(4) Government and public relations |
o

| 86. | Which of the following functions of trade unions are related to trade unjg,

'orgamzatlons
(1) To present and strengthen trade union democracy

(V) To improve financial position of trade unions
(3} To curb inter-union rivalry
(4) Allof the above

87. | Which of the following cannot be categorlzed as the' main alms»of woﬁ
committees ? o |

(1) Giving greater pérticipation of workers

(2) Prov1d1ng better opportumtles out31de the orgamzatlon

& el

etween labour and management
PHD/URS—EE—2022 (Managemen(t) CodoB — B |
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88; Who coined the term “Collective Bargaining” ? |
B (1) Reed Richardson
(@ Kurt Lewin
@ W.E. Deming

(4) Sydney Webb and Beatrice Webb

89. | To be effective in the internationg] environment and HRM policies must :

2 Accommodate differences in Inanagement style

(3) Focus on domestic issues

4) Reflect aﬁ'infefﬁational view -

- 90. | The staffing policy in which all key Ianagement positions are filled by
home country nationals jn termed :

(1) Polycentric
(2) Ethnocentric
4 @) Geocentric

@ Multicentric "

91, Who is considered as the father of scientific managément ? -

(i) Peter Drucker - 2) F.W.Taylor
@  Victor Vroom (4) Henry Fayol

PHD/URS-EE 2023 (Mahagement) Gode:
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The term “Gangp ank” 18 assocmted
92. e
(1) Order
@ Equty

(3) Unity of Direction

(4) Scalar CIM . P
— elled as Assertion (4) and the

8 lab
93. | Given below are twe gtatements : :One 1

: |
other is labelled as Reaso? ® preventlng or reducing

to Herzberg,
Assertion (A) : . According
dissatisfaction at work is not the same a8 prov1d1ng gatisfaction.

‘Reason (R) : Under the ‘two-factor theory’, job satisfaction and |
dissatisfaction are the two motlvatlon
In the light of the above statements,- choose

options given below : o
(1) Both(A)and (R)are true and (R)isthe correct explanation of(A)‘ -

(2 Both(A)and (R)are truebut (R)is NOT the correct explanatmn o @A)
(3) (A)is true but (R) is false | i g
(4) (A)isfalse but (R) is true i

dlfferent aspects of work
the correct answer from the|

- 94. | Which of the following statement(s) is/are true in the context ofparaphrasmg :

I. Itisbasically about Statm
- g m your own w
what has just been said. - . Ords,' your understandmg °f

Select the appropriate answ ' |

nswer fro ing :

A ( )rnthe f(;llowmg:
Only 2) OnlyII

| (3 Bothl - c
%HD/U e (@ Neither I op i o
RS-EE-2022 (Managetnent) Cod ‘B _
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95,

Which of the fo))
product ? meg is/“e °°nd1t1°n(8) for price discrimination of

€:))
(b)

Firm must have some monopoly power

P
d:‘fl;:e elasticities of demand for the product in different market must
er

() Market must be separable or able to be segmented
(d) Free entry and exit of firms

(1) (a) and (d) only

(2) (), (c) and (d) only

3) (@), (c) and (d) only

4) (a), (b) and (c) only

96.

‘the resultis

When mﬂatmn is a result of anincrease in the price of factors of productlon,

(1) Stagflation (2) 'Cost-push inﬂation
(3) Demand-pullinflation  (4) None of the abov'e

The combination of stagnation and inflation is known as

917.
" | () Stagflation (2) Cost-push inflation
(3) Demand-pullinflation  (4) None of the above
98. | The four types of social responsibility include

‘(3) Ph11anthrop1c, Justice, Economlc & Ethical

(1) Legal, Philanthropic, Economic & Ethical
(2) Ethical Moral, Social & Economic

4) Legal Moral Ethical & Economlc

45 PHDIURS—EE—2022 (Management) Code—B
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9.

Moving along an indifference curve the : |

() Consumers prefer some of the consumption pointg to Othey,

@ Marginal rate of substitution for a good increage g Mo
18 consumed

(3) Margmal rate of SUbStitution is constant

@) Consumers do not
—— ————

100. | A such demand cyryes where quantity demandem

. ‘ es.ponsi\'g
to changes ip price are called ;: | ' |

prefer one consumption point, 4, aNothey

1) Perfectly elastic demandcurvgs‘,: |
2) Perfectly inelastié deméﬂd curves |
®) Unitary elagtie démahd curves 4 o

(9 None of the a
\
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uestion
No.

Questioim

’lo

Under which of the following method the time
N wing method the time value of money is not

(1) Net present value niethqd

(2) Internal rate of return ﬁethod ,
(3) Pay-back period method -

(4) All of the above

__of a firm refers to the composition of its long-term funds and its
capital structure. |

(1) Capitalization

(@) Overcapitalization
(3) Under-capitalization o
4) Market-capita]ization

| Alto Industries has a debt-to-equity ratio of 1.6 compared with the industry

average of 1.4. This means that the company :

(1) Will not experience any difficulty with as credltors

(2) Hasless hqmdlty than other firms i in the industry

(3) Will be viewed as having high creditworthiness -

(4) Has greater than average financial risk when compared to other ﬁrms

in its industry

—

To increase a given present value, the discount rate should'be" adjusted :

(1) Upward ° - (2) Downward
1 3) 'No change *(4) Constant

PHD/URS-EE-2022 (Management) Code-C
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3:30“ Questions
5. | Which of the following would not be financed from working capital ’ ?
(1) Cash float
(2) Accounts receivable
(3) Credit sales
(4) A new personal computer for the ofﬁce
6. | Debt Equity Ratio 1s l3:1, the amount of total assets Rs. 20 lac, current
ratio is 1.5:1 and owned funds Rs. 3 lac. What is the amount of current
asset ? _
'(1) Rs.5lac (2 Rs.3lac
(3) Rs.12lac (4) None of the above
7. | The process of risk management includes :
(1) Minimizingrisk -
(2) Maximizing return
(3) Defining and measuring risks being taken
() Hedging |
8. Whlch accounting standard represent the merger and amalgamatmn ?
| @ AS16 (@) AS6 |
@) ASI4" (4) AS23
9 1 The ﬁrst bank in India to start factormg businessis
| @ Canarabank (@ SBI
| (3) Punjab National Bank ~ (4) Allahabad Bank - |

[-IDIURS—EE—2022 (Management) Code-C
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10. | On the expiry date of a futures contract, the price of the contract
(1) Always equals the purchase price of the contract
(@) Always equals the average price over the life of the contract

(B8) Always equals the price of the underlymg asset
(4) Always equals the average of the purchase price and the price

underlying asset

11. | The barriers to effective performance appraisal are :
(a) Psychological blocks of managers

() Faulty assumptions of the parties concerned
(c) Technical pitfalls .

(d) Faulty written communications

(1) All are correct

(2) Only (b) and (c) are correct

-(3) Only (a) and (b) are correct

(49 Only (a), (b) and (c) are correct

12, Followmg are the events of an organizational culture :

(a) Customer orientation and employee policies

(b) Quality orientation, directing and motivating style
(¢) Decision-making, products and services and responsibilities to society |
(d) Reaction to competitors and gratitude towards nation R

Select the correct sequence for the above events :
(1) (a),®and@d) @) (a), (c) and (d)
@3 (), (andd (4) (a), (b), (c) and (d)

'PHD/URS—EE—2022 (Management) Code-C
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18. | What Method is/are Used for Competency Mapping ?

(1) Interview (2) Psychological tests
() Group work (4) All of the above

14. | Organizational behaviour focuses at 3 Levels:

(1) Individuals, Organisation, Society

(2) Society, Organisation, Nation
(3) Employee, Employer, Management

(4) Individual, Groups, Organisation

15. Industrial relations refer to

(1) Central government and state government relations

(@) Employer-employee and government relationship

-1 ) Management and customer relationship

(4) Government and public relations

16. | Which of the following functions of trade unions are related to trade union |

organizations:

@ To present and étrengthen trade union democracy |
(2) “To improve financial position of trade unions

(3) To curb inter-union rivalry

| @ Al of the above .

PHD/URS-EE-2022 (Management) Code-C
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 17. | Which
of the following cannot be categorized as the main aims of works

committees ?

(1) Giving greater participation of workers

2 . . o, 0

(2. Providing better opportunities outside the organization
() Generating co-operative atmosphere for negotiation between parties

(4) Ensuring close interaction between labour and management

18.. Who coined the term “Collective Bargaining” ?
(1) Reed Richardson -

@ KurtLewin

(3) W.E.Deming

(49) Sydney Webb and Beatrice Webb

To be effective in the international env1ronment and HRM pohc1es must :

(1) Effectwely transplant HRM policies and practlces from the home
Country to all other offices

B

(2) Accommodate differences in management style

(3) Focus on domestic issues

(4) Reflect an international view

20. The staffing policy in wh1ch all key management posmons are ﬁlled by
home country natlonals in termed : -

(1) -Polycentric | (2) Ethnocentric
(3) Geocentric . (4) Multicentric

PHD/URS—EE—2022 (Management) Code-C
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Questions

No.

i ?
Who is considered as the father of sclentxﬁc management

21.
T lor
(1) Peter Drucker @) F.W.Tay
Fayol
(3) Victor Vroom (4) Henry Fay
’ ?
22. | The term “Gangplank” is associated with which of the Fayol’s functions /
(1) Order
(@) Equity
(3) Unity of Direction
(4) Scalar Chain
- 23. | Given below are two statements : One is Iabelled as Assertion (A) and the

other is labelled as Reason R)

Assertion (A) : According to Herzbé_rg; preventing_or reducing

dissatisfaction at work is not the same as providing satisfaction.

Reason (R) : Under the ‘two-factor theory’, job satisfaction and

dissatisfaction are the two different aspects of work inoti\iation,

In the light of the above statements, choose the correct answer from the

options given below : |
(1) Both(A)and (R)aretrue and (R)is the correct explanation of (A) -
(2) Both (A)and (R) are true but (R)is NOT the correct explanation of (A)

| (3) A) is s true but (R) is false
‘(4) (A) is false but (R) is true

’HD/URS—EE—2022 (Management) Code—C ’
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u;}stion - Questions
0.

24, Which of the following statement(s) is/are true in the context of paraphraﬂiné 7

I.  Itisbasically about stating in your own words, your understanding of

what has just been said.
II. It gives speaker an opportunity to find out what message he/she is

getting across to you.
Select the appropriate answer from the following :
(1) OnlyI (@ OnlyIl
(3) BothIandII (4) Neither I or II

25. | Which of the following is/are condition(s) for price discrimination of

product ?
(@) Firm must have some monopoly power |
(b) Price elasticities of demand for the product in different market must

 differ | | )
(c) Market must be separable or able to .'b.e.Segmented' f
(d) Free enfry and exit of firms | .

(1) (a)and (d) only |

(2 (b), (c) and (d) only

(3 (a), (c) and (d) only

4) (a), () and {c) Qﬂy |

26. When inflation is a result of an increase in the price of factors of prodﬁctio_ri,

the result is . .
| (1) Stagflation 2) Cost-push inflation
13 Demand-pull inflation (4) None of the above .

PHD/URS-EE-2022 (Management) Code-C
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27.

asinn g . :
The combination of stagnation and inflation is known &
(1) Stagflation ) Cost-push inflation

(3) Demand-pull inflation

(4) None of the above
——

28,

() Ethical, Moral, Social & Economic

The four types of social responsibility include

(1) Legal, Philanthropic, Economic & Ethical

(3) Philanthropic, Justice, Economic & Ethical |
(4) Legal, Moral, Ethical & Economic

| (C)) Consumers do not prefer one consumption pomt to another

Moving along an indifference curve the :

(1) Consumers prefer some of the consumption points to others |

(2) Marginal rate of substitution for a good increase as more of the good
is consumed '

3) Margmal rate of substltutlon is constant

30.

All su_ch demand curves where quantity demanded is totally unresponsive

to 'changes in price are called :
1) Perfectly elastic demand curves

(2). Perfectly inelastic demand curves

»(3) Unitary elastic demand curves
(4) None of the above

PHDIURS—EE—2022 (Management) Code-C
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31. | Which of the following is not the objective of WTO ?

(1) Toimprove the standard of living of people of the member countries
(2) To enlarge productxon and trade of goods

(3) To protect environment

(4) To improve balance of payment situation of the member countries

( 32. | IBRD alsoknownas

(1) Exim Bank

) World Bank

(3) International Monetary Fund
4 Intemational Bank

33. | In wh1ch of the followmg years the Bretton Woods agreement was
- | signed by the delegates from 44 nations whlch led to the eetal)hshment

of the IMF ?
(1) 1940 @ 1952
(3) 1944 | (@) 1957

34. | Dumping refers to;
(1) Reducing tariffs

(2) Sale of goods abroad at a lower price, below cost and pnce n thel:t
home market

(3) Buying goods at low prices abroad and sellmg at lugher pnce locally

‘(4) ‘Expensive goods selling for low pr1ces T J

PHD/URS—EE—-2022 (Management) Code-C
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me was
85. | The Treaty of RO @ 1957 l

it, the
86. | Under an acceptance letter of credi

bank is:
(1) Only to accept the bill

(8) To accept the bill 1mmed1ately and also to

on its due date . bln
(4) To get the acceptance of the 1mporter on the

il ‘—————//;;;onsibﬂity of the issuing | -

(2) Topay against the bill S . oay the amount of the bill

37. | ADecision Support System (DSS) isan apphcatmn for mformatmn systems

that helpsin | .
(1) System Design (2) System Analysis
(3) Decision Making (4) All of the mentioned above o

© 388. | Datain bytes size is called Big Data
(1) Tera ° M '_ i (2) G1ga |
(3) Peta . (4) Meta

- 89. | Artificial Intelligence is abeut
(1) Playing a game on Computer
(2) Making a machine Intelligent

(4) Putting your mtelhgence in Machme

your Own Intelhgence | ' .‘

HD/’URS—EE—2022 (Management) Code C —
| (10) |
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40.

-prediction.

supports knowledge discovery by finding hidden patterns and

a . [ ] N . N [
ssociations, constructmg analytical models, performing classification and

1 \

(1) Information Processing (2) Analytlcal Processing
(3) Data mining (4) All of the above

41.

___is nothing but willingness of consumers to purchase protlucts and

services as per their taste, need and of course pocket.
(1) Consumer behaviour (2) Consumer interest

(3) Consumer attitude (4) Consumer perception

- 42,

influences have been related to purchase and

In terms of consumer behaviour, culture social class, and reference groilp

(1) Economlc situations - (2) Sltuatmnal mﬂuences

(3) Consumption decisions 4) Phys1ologlcal influences

43.

(2) Design, style, or symbols,

(4) Name, wor

What elements constitute a brand ?

1) Naine design, style, words or symbols, singly or collectively that

distinguish one product from another |
singly or collectlvely that dlstmg\ush one

product from another

style, words or symbols that dlstmgulsh one prodﬁct _

(3) Name, design,
 from another

ds or symbols, singly or collectlvely that d.lstmguish one |

product from another

| PHD/URS-EE-2022 (Management) Code-C
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44. | In marketing theorYs ever contrlblIt

product : :
@) Costs

(1) Values e
(¢) Ingredients

® ConvenielL/ ‘ '

o services include

45. | The four unique elements t
- | () Independence, ntangibility, inventory: and inception
d intangibility

inventol'y, an

) Independence increase,
arability, and inventory |

(3) Intangibility, mcons1stency, insepar

(4) Intangibility, independence, mseparability, and inventory

46. | A further 3Ps are incorporated into the lﬂarketing mix c
(1) Physical evidence, process and price :
(2) Process, people and promotion |

3) Phys1cal ev1dence, people and promotlon

(4) Physical evidence, process and people

their long term preference and busmess

(1) M i i

. 3) Product Marketi
B . arketing @) Selhng Concept

PHD/URS-EE-2022 o
: . (Managemen(g)z)code-c : - _ »' i
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Using one brand name for several related products is known as which of

the following :
‘(1) Family branding
3) Combination branding

(2) Group branding
4) Premium branding

49.

Maglc Box Company wants to provide better customer service while

trimming distribution costs through teamwork, both msnde ‘the
nnel orgamzatlons Magic Box

company and among all the marketmg cha
is thinking of

(1) D1smtermed1at10n

(2) Integrated logistics management |

3) Customer relatlonshlp management

4) Vendor-managed mventory

value creation process.

50.

It up- -holds the importance of customer in the whole

The D. A. R. T. highlights this aspect in a vivid manner.

(1) Contemporary Model 2) Conventmnal Model

| (3) Both (4) None of the above

BL.

Which option 'gives a review report on the firm’s fmanc1a1 status at a

spemﬁed date 7
(1) Income & Expendlture Account

.(2) - Balance Sheet
3 Cash Flow Statement
4 Pr'oﬁt & Loss Account

'HD/URS—EE—-2022 (Manageme
o (13)
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Accounting rati s
(1) Financial Statemont Analys!

(2) Trial balance il
(3) Financial Statement Analysi8 arl@Tﬂ , »

(4) None of the above /

The objectives of Cash Flow Statement are :

(a) Analysis of Cash position

(b) Short-term cash planning

(c) Evaluatlon of hqmdlty -

d Companson of operatmg Performance .
Seleet-the correct options : |

() Both@and ()

@ Both '(a) andl ()

(3 Both (b) and ()

@ <a>',, (b), (¢) and (d)

4.

’ Whlch of the followmg is true at break -even pomt ?

B (1) Contrlbutlon leed cost '

© ‘Sales = Total Coet

3) ’ Sales curve cuts total cost'line | o

N (@ Allofthe above

D/URS—EE—2022 (Management) Code-C
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56.

Process costing is suitab]a,for
(1) Hospitals ~ (2) Oilrefining firms
(3) Transport firms (4) Bricklaying firms

56.

The formula to estimate Labour Mix variance is :

(1) Total standard labour cost of actual output - Total actual cost of
actual output ' '

(2) (Standard rate per hour — Actual rate per hour)* Actual Hours
'3) (Revised standard time — Actual time)* Standard rate
(4) Abnormal idle hours* Standard hourly ;ate |

67.

Financial management is mainly concerned with

(1) All aspects of acquiring and utilizing financial resources for firms’
" activities | |
2) Arrangement of funds

3) Efﬁc1ent Management of every busmess

(4) Proﬁt mamm1zat10n

58,

is the rate of return for the most viable investment opportunity for |

a company that they will forgo by selecting any other project.
1) Iniplicit cost . .

(2)' Specific cost

(3) ‘Explicit cost

@ None of the above

PHD/URS—EE—2022 (Management) Code-C
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jtal structure & FT
59.

While designing & ¢aP
pattern of capital which @ . | | Ry
(1) MlmmxmescostOfcapita b e

. Wl

. | PEERR T
(2) Maximizes the owner retur mnmzes the SRiner retu _
d m
haut t of capital an
@) Maximizes co8

(4) Both (1) and (2) . . . \

- S help of operatmg eVerage o N
60. udled w1th the |
Which of the fbllowmg is st

@ AnalysmofBusmessRlsk 35kdodt #{1 L Ay
2 AnalysmomeanmalRlsk e L
3) ADaIYSls of Produétion Rlsk | | TS B
@ AnalyszsofCredltnsk R A ‘» .

A grouped ﬁ'equency d13tr1but10n w1th uncertam ﬁrst and last clasges s
known as_’’

61.

(1) Excluslve,class dfétﬁbution
(@) Inclusive class dlstnbutmn

(3) Open end dlstrlbutlon |

@ D1screte frequency dlstnbutlon
- 62,

Extreme value has no eﬂ'ect‘c'm

(1) Average (2) - MedJan | .

| L (3) Geometnc mean (4) Harmonjc mean ‘

PHD/URS—EE—2022 (Management) Code- C — T
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63. | For a negatively skewed distribution, the comct inequality is _____
(1) Mode < Median

(2) Mean <Median

(8 Mean < Mode

(4) None of the above

64. | If p =0, the angle between the two lines of regression is _
(1) Zerodegree '~ °  (2) Ninetydegree =
(3) Sixtydegree (4 Thirty degree

65. | The co-efficient of .cio,',rrelation is not affected by
(1) Change of origin- (2) Change of scale
(3) Both origin and scale (4) None :

66. | The level of 31gn1.ﬁcance is the probablhty of commlttmg
() Typel error o (2) Type II error
3) ‘Standard error (4) Probable error

67. | If A and B are two mutually exclusive events, then probabﬂlty that either
| of the two events will appear is the sum of their :

(1) Individual probabilities

(2) Likely events |

(3) Entire population

-(4) None of the above

PHD/URS—EE—2022 (Management) Code-C
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o5, | Tsthere any rel:txons |
Xand Rcharts . . limits = Control hmlts 3
. n .
1) Yes SPemﬁcaho. _ gpecification limite/ o
@ Yes,Contl‘OllimlFs_ e " Im
@®) No : _ aoecification limits
(4) Yes, Control limits* 0.5 = SP , b
PSR assume values :
69. | A variable is any characteristic which can
. imilar
(1) Different @ 5 d;
(3) Fixed (#) Assume , , |
70. Tﬂe line obtained by the method of least squares is known as thg line 1 |
| of | , | |
(1) Best fit (2) Correlation
(3) Regression () None -
- 71. | The resistance of employees in an o izt sont o o
e af organization against flexibility, growth, | °
-and diversification can be overcome by dev'éloping‘ | e
(1) Entrepren ip | N T
o ! eurghlp | (2) Intrapreneurship
(3) Managerial domajn @) Adminictoe: o - ,
— ~ istrative domajn
72. :
. Wl;x;}h industria] sector tends to natuy ally it
and Entr : Omot, I
- oprencurship, ang generally hag) ® small-scale businesses
(1) Service | “'oWer barrierg tom
o | @ Manyg. . 0 market entry ?
() Distribution @ 2 “factunng |
3 : : ) Agrlcult &
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73.

‘National Alliance of Young Entrepreneurs sponsored an Entrepreneurial

Development scheme with Bank of India in
(1) January 1920 - (@) August 1920
(3) January 1972 N (4) August 1972

74.

A Micro Enterprise. is an enterprisé where investmeént .in plant and
machinery does not exceed (According to MSMED Act, 2006). _

(1) Rs.25Lakh @ Rs.20 Lakh

(3) Rs.15Lakh (4) Rs.30Lakh

75.

According to sociological apprba(:h, Entrepreneurship is :
(1) Process of sensitivity -
(2) Process of role performance

(8) Process of economic change

(4) All of these

76.

The idea generation process of entrepreneurship is

(1) Germination (2) Preparation

-(8) Incubation , (49 Al of these

71.

“Winners never quit and quitters never win”. Whosaid this?
(1) Kalpana Saroj (2) HarshBhaskar
3 Adapl Smith (4) Vince Lombard

PHD/URS-EE-2022 (Management) Code-C
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: o] Which of the following is NOT an immediate indicator of industrial
gickness ? ' ] \

(1) Dropin profitability

(2) Labour unrest

(8) Shrinking of market credit
(4) Decline in market share

the evolution, development, and sequence

79. is the process of tracking e
of critical events that affect the survival and profitability of the future|
new business. , o :

(1) Marketing 2) Monitoring
(3) Scanning (4) New venture’s environment
- 80, WhJch of the following areas are preferred by women entrepreneurs ?
(1) Administration - (2) Organi_zation -
(3) Utilities " (4) Manufacturing
81. | Which of the following is NOT one of the steps involved in decisioxi making :

process 7
(1) Make decision or choose an alternative

(2) Change the desired outcome
(3) Research and.ide'nti_f'y options
(4) - Evaluate results

_ 82. | Who has classxﬁed introvert personahty and extrovert personahty
(1) Freud © Jung

N

PHD/URS—EE—2022 (Management) Code-C
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83.

Which of the following is not a covert behaviour ?

(1) Thinking (2) Feeling
3) Dreaming (49) Talking

84,

(8) The belief that productivity is linked to trust, openness, subtlety

The basis of theory Z‘is the reliance .on -
(1) External control of human behaviour
(2) Self-control and self-direction

and intimacy in the work environment
(4) Government regulatory framework

85.

Which of the following statements is true about stress management ?

(1) Stress management is learning about the connection between mind
and body |

(2) Stress management helps us control our health in a positive sense
(3) Stress management teaches us to avoid all kinds of stress
4) Only‘r’ &2 are right

86.

“Scope of Organizational Behaviour does not include

(1) Leadership (2) Perception
(3) Job Design (4) Technology

87.

What should be the strategy of HRM ?

(1) Making thexiong-term and short-term planning
(2) Planning the optimum leve] of man-power

.(‘3) Introducing tfaining programmes to personnel
(4) All of the above | |

;HD/URS—EE-2022 (Management) Code-C
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88. | Human Resource planning is compulsory for .

(1) Effective employee development programme
(2) Base for recruitment

(8) Base for selection policy

(4) All of these

89.

and internal mobility are few important functions w
heading of _____ of HRM.

(1) Integrationfunction  (2) Development
.(3) Maintenance (4) Procurement function

Job analysis, HR planning, recruitment, selection, placement, inductions |
hich come under the |

___provides information on the human attributes in terms of education, |

| 92

| @ Industry Attractiveness & Relative market Shai'e |

90.
gkills, aptitudes, and experience necessary to perform a job effectively.
(1) Job description (2) Job specification o B
(3) Jobanalysis | (4) Jobevaluation
91. is a widely used framework to summarize a cdmpany’s'situatiqn.or s
current position. S ' "
(1) SWOT analysis " (2) TOWS matrix
(3) Ansoffs matrix : 4 BCG matrix
’The GE 9 cell model is based on :

(1) Industry attractiveness & Business strength
(2) Industry Growth rate & Business strength

4 Ihdustry Growth & Relative market Share

PHD/URS-EE-2022 (Management) Code-C
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93.. | Horizontal integrat.ioﬁ is co \
| n

cerned wi -
(1) Production ith :

. (3) P roduct Planning

2 Quality
(4) Al of the Above

94. | Explori io 3 .
Xp ng the strategic Implications of globa] warming is best described
as ___

(1) An external environment analysis
(2) Scenario planning

(3) Futures forecastipg "

(4) APESTLE analysis

| 95. | Which of the following is NOT an entry barrier to an industry ?

.(1) Expected competitor retaliation
(2) Economies of scale |
3) Customer product loyalty
4) Bargairiing power of suppliers
‘ i nt strategy ?
_96. Which of the following is NOT a price adjustme !

(1) Segmented pricipg

2 Promotional pricing

(3) Free samples

4) Geogfaphical pricing

) Code-C
(23)
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0.

A i » ket
The stage .in the product life cycle where the strategic focus is on mar
d building intensive distribution is thg -

penetration an
(2) Introduction stage

(1) Declineitage
(3) Growthstage

(4) Maturity stage

ons to organization-sponso:ed events

Newsletters, catalogues, and invitati o
marketing mix activity of :

are most closely associated with the
2) Distribution

(1) Pricing |
(3) Product development (4) Promotion o .

smmunication about a product that ig

A paid form of non-pe'rsonal_ c _ .
gh a mass medium is :

transmitted to a target audience throu
(1) Publicity (2) Sales promotion

(3) Advertising (4) Personal selling

100.

‘(1) Niche marketing

(9 Local marketing
| (4 None of the above

The ultimate level of segmentation leads to

(2) Individual marketing

ED/URS_EE_2099 IM,‘__.__ . J-.‘
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__No.

Questions

| Wh1ch of the followmg is NOT one of the st

eps involved'ind ision makine
process ? decision making

(1) Make decision or choose an alternative
(2) Change the desired outcome

(3) Research and identify options

(4) Evaluateresults

Who has classified introvert personality and extrovert personality ?
(1) Freud | (2) Jung

3) Munn | @ Allport

‘Which of the followmg is not a covert behavmur ?
(1)  Thinking - (2) Feeling
(3) Dreaming = (4) Talking

(2) Self-control and self- direction
1-(3) The beliefthat product1v1ty is lmked to trust, openness, subtlety and

The basis of ‘theoi'yf 7 is the reliance on_.-

(1) External control of human behavienr

intimacy in the work environment -

(4) Government regulatory framework s

‘Which of the following statements is true about stress management ?

(1) Stress management is learning about the connection between mind

and body

| _(2) Stress management helps us control our health ina posmve sense

(3) Stress management teaches us to avmd all kinds of stress |
(4) Only ‘1’ & ‘2 areright

’HD/URS—EE—2022 (Management) Code—D
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viour does not include .. ,
(2) Perception I
(4) Technology B v \

7.

3 e
e SRS

What should be the strategy of HRM ? o ,
(1) Making the long-term and short- term plamung

(2 Planning the 0pt1mum level of man- power
(3) Introducing training programmes to personnel

4 All of the above | }

'Human Resource planning is compulsory for
(1) Effective employee development programme
@) Base for recruitment |

(3) Base for selection pohcy | e j

90

‘(3)  Maintenance (4 Procurement function

(4)  All of these
Job analysis, HR planmng, recruitment, selectmn, placement mductlons‘ |
and internal mobility are few 1mportant functlons which come under the

heading of of HRM.
(1) Integration function (2) Development -

' 10.

____ provides information on the human attributes in terms of education,
skll]s, aptltudes, and experience necessary to perform a )ob eﬁectwely

(1) Job description (2) Job speclﬁcatlon
6)) Job analysis | @) Job evaluatlon .

PHD/URS—EE—2022 (Management) Code-D
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{ Question | Questiong

11. | The resistance of employees in an organization against ﬂe:dbility, groveth,
and diversification can be overcome by developing

K¢V Entrepreneurship (2) Intrapreneurship
(8) Managerial domain 4 Administrative domain

12, | Which mdustnal sector tends to naturally promote small- scale businesses
and Entrepreneurship, and generally has lower barriers to market entry ?

’ | @) Service '_ (@ Manufacturing
(3) Distribution @ Agnculture

- 13.- | National Alliance of Young Entrepreneurs sponsored an Entrepreneunal
/ Development scheme with Bank of India j in_____

(D) January 1920 (@) August 1920
(3) January 1972 | (@) .August 1972

14. | A Micro Enterprise is an enterprise where 1nvestment in plant and
machinery does not exceed (According to MSMED Act, 2006).

(1) Rs.25Lakh "~ (2) Rs.20Lakh
(3) Rs. 15 Lakh (4 Rs.30 Lakh

| | B
' - 15. Accordmg to socmlogmal approach Entrepreneurshlp 18:
(1) Process of sensitivity |

(2) Process of role performance g

(3) Process of economlc change

4) All of these

PHD/URS—EE—2022 (Management) Code—D
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/
of entrepreneurship is

The idea generatxon process
(2) Preparation

(4) All of these 1

y.»N|

3) Incubation

«Winners never quit and quitters never win”. Who said this ?
(1) Kalpana Saroj (2) Harsh Bhaskar
(3) Adam Smith (4) Vince Lombard

18.

Which of the followmg is NOT an 1mmed1ate indicator of mdustnal ﬁ

sickness ?

(1) Dropin proﬁtability

(2) Labour unrest

3) Shrinking of market credit
(4) Decline in market share |

_____isthe process of tracking the evolution, development, and sequence

» . 19.
of critical events that affect the surv1va1 and proﬁtablhty of the future new
busmess o
(1) Marketing (2) Monitoring
| (3) Scanning (4) New venture’s environrnent
- 20. Wh1ch of the followmg areas are preferred by women entrepreneurs 7

¢)) Admlmstratmn (2) Orgamzatron

3) Ut1ht1es (4) Manufacturmg

HD/URS—EE—2022 (Management) Code-D

@4



Questions.

A grouped frequency distribution with uncertain fut-st' and last classes is |
known as

(1) Exclusive class distribution

(2) Inclusive class distribution

(3) Openend distributibﬁ

(4) Discrete frequency distribution

22,

Extreme value has nb' effect on
(1) Average - (2) Median

(3) Geometric mean 4 Harmonic mean

23.

For a- negatlvely skewed dlstnbutlon, the correct mequahty is
(1) Mode < Median

(2) Mean <Median

(8) Mean< Mode

(4) None of the above

- 24,

If p =0, the angle between the two lines of regression is

| (@) Zero degree ~ (2) Ninety degree

3 Sixty degree (4) Thirty degree

25,

The co-efficient of correlation is not affected by
(1) Change of origin (2) Change of scale
(3) Both origin and scale (4) None |

PHD/URS-EE—2022 (Management) Code—D
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1::' The level of significance is the probabilit); ;)f committing : ‘_
(1) Type I error (2) Type II error [
(3) Standard error | (4) Probable error 1
27. | IfA and B are two mutually exclusive events, then probability that either ? -
of the two events will appear is the sum of their : ‘ |
(1) Individual probabilities ' ' )
(@) Likely events | %
(3) Entire population |
(4) None of the above . | =
- 28. | Isthere any relationship between specification limits and control limits of
-x and R charts ?
(1) Yes, Specification limits = Control limits
(2) Yes, Control limits = Specification limits/2
@ No
(4) Yes, Control limits* 0.5 = Specification limits
29, | Avariableis any characteristic which can assume values :
(1) Different . @ Similar |
L (3) Fixed 3 4) Assumed
30. | The line obtained by the method of least squares is known as the line | |
‘of . ,
(1) Bestfit « | (2) Correlation
(3) Regression (4) None

PHD/URS-EE-2022 (Management) Code-D
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31.

is a w.xdely used framework to summarize a company’s situation or
current position.

(1) SWOT analysis (2) TOWS matrix
3) Ansoffs matrix (4) BCG matrix

- 32,

The GE 9 cell model is based on :
‘(1) Industry attractiveness & Business stréngth

(2) Industry Growth rate & Business strength

(3) Industry Attractiveness & Relative market Share
(4) Industry Growth & Relative market Share

33.

Horizontal integration is concerned with :
(1) Production | (2) Quality |
(3) Product Planning (4) All of the Above.

. 34.

Exploring the strategic implications of global warming is best deScrib_éd |
as _ | | |
‘(1) Anexternal environment analysis -

(2) Scenario planning
(3) Futures forecasting

(4) APESTLE analysis

35.

Which of the following is NOT an entry barrier to an industry ? | |
(1) Expected competitor retaliation " o

(2) Economies of scale
(3) Customer product loyalty

(4) Bargainingpower of suppliers

PHD/URS—EE—2022 (Managemen

t) Code-D
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ich of the following is NOT a price adjustment strategy
36. (:msegmen“’d pricing
(2) Promotional pricing
(3) Free samples
(4) Geographical pricing

—

arket |

37. | The stage in the product life cycle where the strategic focus is on m

penetration and building intensive distribution is the :
(1) Decline stage

(@ Imtroduction stage
(3 Growth stage
“@ Maturity stage

(3 Product development | (4)~ Promotion

/ 39, A paid form of non

(1) Publicity

(2)- Sales pszmotion-
@) Advertising
49 Persona selling e - |
VURS-EE_-2022 (Managemen_t) Code.—D P SRR
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The ultimate level of segmentation leads to :

(1) Niche marketing (2) Individual marketing
(3) Local marketing | (4) None of the above
41. | Which option gives a review report on the firm’s financial status at a
specified date ? 3
(1) Income & Expenditure Account
(2) Balance Sheet .. | .
(3) Cash Flow Statement
(4) Profit & Loss Account
42. | Accounting ratios are an important tool of
.(1) Financial Statement Anal_ysis |
(2) Trial balance | |
(3)  Financial Statement Analysis and Trial balance -
(4)' None of the above

43.

(d) Comparison of operating Performance

The objectives of Cash Flow Statement are
(a) Analysis of Cash position '

(b) Short-term cash planning

(c) Evaluation of liqﬁidity

Select the correct options :
(1) Both (a) and (b) (2 Both :(a) and () -
3) Both (b) and @ @ (@, ®) () and @

PHD/URS—EE—2022 (Management) Code—l?_j_’."
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44. | Whichof the follow
(1) Contribution = Fixed cost

ing is true at break-even point ? .

2) Sales="Total Cost
(3) Sales curve cuts total cost line
(4) Allof the above |

45. | Process costing is suitable for
(1) Hospitals .+ (2 Oilrefining firms
(3) Transport ﬁrms " (4) Bricklaying firms

46. | The formula to est1mate Labour Mix variance is:
1 output Total actual cost o

(1) Total standard Jabour cost of actua

actual output . | | |
(2) (Standard rate per hour - Actual rate per hour)* Actual Hours |
(3) (Revised standard time — - Actual time)* Standard rate o

(4) Abnormalidle hours* Standard hourly rate

47. | Financial management is mainly concerned with
(1) Al aspects of acquiring and ut1hz1ng ﬁnanclal resources for ﬁrm
: act1v1t1es :

@ Arrangementof funds

(3) Efficient Management of every business

- (4) Proﬁt maximization

PHD/URS—EE—2022 (Management) Code-D
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48, is the rate of return for the most viable inveatment opportunity for

a company that they will forgo by selecting any other project.
(2) Specific cost

(1) Implicit cost
(4) None of the above

(8) Explicit cost

49.

While designing a capital structure a finance manager should choose a

pattern of capital whlch .

(1) Minimizes cost of capltal

(2) Maximizes the owner return

(3) Maximizes cost of capital and minimizes the owner return

(4) Both (1) and (2)

50.

Which of the following is studied with the help of operating leirerage‘? |
(1) Analysis of Business Risk @) - Analysis of Financial Risk
(3) Analysis of Production Risk (4) Analysis of Credit risk -

o1.

‘The barriers to effective performance appraisal are :

() Psychological blocks of managers

(b) Fai;lty assumptions of the partiés concefi;éé‘ |
(c)' Téchnical pitfalls

(d) Faulty written communications

(1) All are correct |

(2) Only (b) and (c) are correct

(3) Only (a) and (b) are correct

| (4) Only (a); (b) and (c) are correct

'HD/URS—EE—2022 (Management) Code-D
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52. | Following are the events of an organizational culture :

(a) Customer orientation and employee policies

(b) Quality orientation, directing and motivating style
(c) Decision-making, products and services and resﬁbnsﬁ;ﬁities to society
(d) Reaction to competitors and gratitude towards nation
Select the correct seqﬁence for the above events :

(M) (), () and (d)

-

@ (a), () and (d)
@) ), (© and ()
@ @), (®), (¢) and ()

63.

What Method is/are Used for Competency Mapping ?
(1) Interview ~ (2) Psychological tests -
(3) Group work : (4) Allof the gbove |

Organizational behaviour focuses at 3 Levels :
(1) Individuals, Organisation, Society

2) Society, Organisation, Nation

(3) Employee, Employer, Management

(4) Individual, Groups, Orgam'sation

05,

Industrial relations refer to
1) Central government and state government relations

¥)) Employer-employee and government relationship

3) Management and customer relationship

7)) Government and public relations

HD/URS-EE-2022 (Management) Code-D
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~ 56. | Which of the following functions of trade unions are related to trade union
organizations :

(1) To present and strengthen trade union democracy

(2) Toimprove financial position of trade unions

(3) To curb inter-union rivalry

(4) All of the above

57. | Which of the following cannot be categorized as the main aims of works
committees ?

(1) Giving greater participation of workei's
(2) Providing better opportunities outéide the organization
(3) Generating co-operative atmosphere for negotiation between parties

(4) Ensuring close interaction between labour and management

58. | Who coined the term “Collective Bargaining” ?
(1) Reed Richardson

(20 Kurt Lewin

(3 W.E.Deming

(4) Sydney Webb. and Beatrice Webb

59. | Tobe effective in the international environment and HRM policies must :

(1) Effectively transplant HRM policies and practices from the home
Country to all other offices

(2) Accommodate differences in management style

3) Focus on domestlc issues

4) Reﬂect an mternatmnal view

'HD/URS—EE—2022 (Management) Code-D
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The staffing policy in which all key management pomtlons are filled by
60. e
home country natnonale in termed

(1) Polycentric @) Ethnocentric
(3) Geocentric (4) Multicentric

6L | Under which of the following method the time va}ue of money is not
considered :
(1) Net present value method
(2) Internal rate of return method
(3) Pay-back period method
(4) All of the above ,

62.

-of a firm refers to the composmon of its long-term fu.nds and 1ts |
capital structure. : ' ‘

(1) Capitalization -

(2) Overcapitalization
®3) Under-capitalization
(4) 'Market-capitaHZaﬁon

63 AIwIndustnes hasa debt-to equ1ty ratio of 1.6 compared ﬁrith fhe mdustry

average of 1.4, Th15 means that the company
(1 ) Will not experlence any dlfﬂculty w1th as cred1tors
(2) ' Has less hqmd1ty than other ﬁrms m ‘the mdustry
(3 Wil

be viewed as having hlgh crethworthmess

(4) - Hasgreater than |
| average ﬁnanc
in jts industry - talrisk when compared to other firms

7RS—EE—2022 (Management) Code—D
| (14)
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64.

To increase a given present value, the discount rate should be adjusted :
(1) Upward ‘ (2) Downward '
(3) Nochange (4) Constant

65.

‘Which of the following would not be financed from working capital ?

(1) Cash float ~ (2) Accounts receivable
(3) Credit sales (4) Anew personal computer for the office

Debt Equity Ratio is 3:1, the amount of total assets Rs. 20 lac, current

ratio is 1.5:1 and owned funds Rs. 3 lac. What is the amount of current
asset ?

(1) Rs.5lac (@ Rs.3lac
(3) Rs.12lac | ‘ (4) None of the above

- 67.

The process of risk management includes :

@ Minimizing risk

(2) Maximizing return
(3) Defining and measuring risks being taken
(4) Hedging )

680

Which accounting standard represent the merger and amalga.mation ?
(1) AS16 (2) ASG6 |
3) AS14 S (4) AS23

- 69.

The first bank in India to start factoring businessis = -
(1) Canara bank (2)_ SBI .
(3) PunJab Natmnal Bank ~ (4) Allahabad Bank

| PHDIURS—EE—2022 (Management) Code-D
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70' On
wrong (1) Always equals the purchage p

nentio (2 Always equals the average price over the life of the contract
(3) Always equals the price of the underlying asset

(4) Always equals the average of the purchase price and the price
- underlying asset

the contract

the expiry date of a futures contract, the price of
rice of the contract

71, ____is nothing but willingness of consumers to purchase products and
services as per their taste, need and of course pocket.

(1) Consumer behaviour (2) Consumer mterest

(3) Consumer attitude (4) Consumer perception

72. | Interms of consumer behaviour, culture, social class, and reference group

influences have been related to purchase and
(1) Economicsituations = - @) Sltuatlonal mﬂuences

3) Consumptlon declslons | (4) Physmloglcal mﬂuences

73. | What elements constitute a brand ?
(1) Name, design, style, words or symbols, smgly or collectw'ely that
distinguish one product from another -

(2) Design, style, or symbols, singly or collectively.that dist'mguish one

product from  another

(3) Name, deslgn, style, words or symbols that dlstmgmsh one product
from another |

(49) Name, words or symbols singly or collectively that dlstmgmsh one
product from another

PHD/URS—EE—2022 (Management) Co de-D ' e
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In marketing theory, ever contribution from the supply chain adds to the

product :

(1) Values "~ (2) Costs

(3) Convenience | | (4) Ingredients

75.

The four unique elements to services include :
(1) Independence, intangibility, inventory, and inception
(@) Independence, increase inventory, and intangibility

(3) Intangibility, mcons1stency, 1nseparab1hty, and mventory
(€Y Intang1b111ty, 1ndependence inseparability, and inventory

' 76.

A further 3Ps are incorporated into the marketing mix :

Q) Physical evidence, process and price

2) Process, people and promotmn '
3) Phys1cal ev1dence people and promotlon

(4) Physical evidence, process and people

77.

It has the aim of building long term mutually satisfying relations thh key

parties, customers, suppher distributors in order to earn and‘retam

their long-term preference and business.

Q) Marketieg Myopia ~ (2) Relationship Marketing

(3) Product Marketing | 4) Selling Concept |

PHD/URS—EE—2022 (Management) Code-D
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78,

Using one brand name for several related products is known as which of

the following:
(1) Family branding

(@ Group branding

(3) Cambination branding
4) Premiumbranding EAS TR :f,' - 4

79.

Magic Box Company wants to prov1de better customer servwe wh1le
trimming dlstrlbutlon costs through teamwork, both 1n81de the
company and among all the marketmg channel orgamzatlons Maglc Box
1sth1nk1.ng of

(1) Disintermediation

)] Integrated logistics management

(3) Customer relationship management

4) | Vendor-managed invéritory

I

- 80.

It up-holds the 1mportance of customer in the whole value creéhon process
The D.A.R.T. hlghhghts this aspect in a vivid manner, |

(1) - Contemporary Model K

(2) Conventional Model_

@) Both

(4) None of the above

-ID/URS—EE—-2022 (Management) Cc COde-D —
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81. | Who is considered as the father of scientific management ?
(1) Peter Drucker (2) F.W. Taylor
) Victor Vroom (4) Henry Fayol

82. | The term “Gangplank” is associated with which of the Fayol's functions ?
(1) Order
(2) Equity
(3) Unity of Direction |
(4) Scalar Chain
Given below are two statements : One is labelled as Assertion (A) and the |

83.

other is labelled as Reason (R)

Assertion (A) : According to Herzberg, preventing or reducing

dissatisfaction at work is not the same as providing satisfaction.

Reason (R) : Under the ‘two-factor théor'y’, job satisfaction and

dissatisfaction are the two different aspects of work motivation.

In the light of the above statements, choose the correct answer from the
options given below : | ) |

(1) Both(A)and (R) are true and (R) is thé'co}feCt explanation of (A)

(2) Both (A)and (R)are true but (R) is NOT the 'cori'ect ekplana’tion of (A)

| @) (A)is true but (R) is false

(@) (A) is false but (R) is true

HD/URS-EE-2022 (Management) Code-D
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L)1

No.

of para
Which of the following statement(s) is/are true in the context of p Phtasmg

84. | Ltis basically about stating in your own words, you? understandmg
what has just been said. -
II. It gives speaker an oppdrtunity to find eut whst messgge helshe iy
getting across to you.
Select the appropriate answer from the following :
® Omyl @ Only I |
@ Bothlandll. (@ Neither IorII
| 85.' Which of the following is/are cdnditibn(s) for price discrirﬁinaﬁon _of
| product ?
.(a) Firm must have some nionopoly power |
(b) Price elasticitieé of deménd for the product in different market must
- differ | |
(c) Market must be separable or able to be segmented-
(d) Free entry and exit of firms |
(1) @ and @only °
@ ), (©) and (d) only
® (@), © and (d) only
@ (a), ) and (c) only
e

PHD:’UR&EE—2022 (Management) CW
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When inflation is a result of an increase in the price of factors:of
production, the result is

(1) Stagflation

(@) Cost-push inflation
(3) Demand-pull inflation
(4) None of the above

87.

The combination of stagnation and inflation is known as
(1) Stagflation ‘ (2) Cost-push inflation
(3) Demand-pullinflation  (4) None of the above

88.

The four types of social responsibility include
(1) Legal, Philanthrepic, Economic .& Ethical
(2) Ethical, Moral, Social & Economic

(3) Philanthropic, Justice, Economic & Ethical

(4) Legal, Moral, Ethical & Economic

89.

Mov1ng along an indifference curve the :
(1) Consumers prefer some of the consumption pomts to others

(2) Marginal rate of substitution for a good increase as more of the

good is consumed

| (3) Marginal rate of substitution is constant

(@) 'Consumers do not prefer one consumption point to another |

HD/URS—EE—2022 (Management) Code-D
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All such demand curves where quantity demanded is totally unresponsiy |

to changes in price are called :

(1) Perfectly elastic demand curves - .
(2) Perfectly inelastic demand curves

(3) Unitary elastic demand curves

'(4) None of the above

91

Which of the following is not the objective of WTO ?

(1) To improve the standard of living of people of the member_countries
(@) Toenlarge production and trade of goods

(3) To protect environment

(4) Toimprove balance of payment situation of the inembér countries

92,

—

IBRD also known és -

(1) EximBank

(2) World Bank

3 Internétional Monetary Fund
(4) International Bank

93.

| signed by the delegates from 44 nations which led to the estabhshment

In which of the following years the Bretton Woods. agreement was

of the IMF ? .
(1) 1840 L@ 192
() 1944 4) 1957

PHD/URS—EE—2022 (Management) Code~D
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94, | Dumping refers to ;

(1) Reducing tariffs
(2) Sale of goods abroad at a lower price, below cost and price in their

home market :
(3) Buying goods at low prices abroad and sel]mg at lugher price locally

(4) Expensive goods selhng for low prlces

95.

) 1959

The Treaty of Rome was signed in the year
- (2) 1957

(4) 1955

s

(3) 1956

96.

@

Under an acceptance letter of credit, the responsibility of the issuing

bank is :

1) Only to accept ﬁhe bill

(2) Topay againsf the bill |

(3) To accept the bill immediately.and aleo to pay the amount of the bill

on its due date
To get the acceptance of the importer on the bill

97.

A Decision Support System (DSS) is an application for information systems

that helps in
(1) System Design

(2) System Analysis

(3)- Decision Makmg " (4)" All of the mentioned above .

EID/URS—EE—2022 (Management) Code-D
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88. | Datain____ bytes size is called Big Data. '
(1) Tera  (2) Giga
(8) Peta (4) Meta |
. —
9. | Artificial Intelligence is about . | |
| (1) Playing a game on Computef
(2) Making a machine Intélh'gent y
(3) Programmingon Machine with your Own Inteﬂigence
(49) Putting your intelligence in Machine' ; E
0. supports knowledge discovery by ﬁ_ndiﬂg_ hidden paft'erns’ an:
associations, constructing analytical models, performing classification and
prediction. | | | .

(1) Information Processing (2) Analytical Proceésing B
(3) Data mining (4) All of the above
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